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=5, SHIKSHA VIKASH SAMITIL, ODISHA 7™

ANNUAL EXAMINATION: 2024-2025 &
Sor
Sub - English (O)
Full Marks - 65
1. Answer the followings. (any five) 4 x 5 =20
(a) What is your father’s name?
(b) What is that? (showing a fan)
(c) Who is your Pradhan Acharya?
(d) Who are you?
(e) What is the name of your school?
(f) Is your father a teacher?

2. Book Reading. 3x5=15
Lesson - 42 Page - 51 of SER-I, Part - II
(That is a table ......... The table is blue.)

3. Recite any rthyme with action from your text
book. 10

4. Arrange the letters to make corect words.
(Showing letter cards.) 2x3=6
(a) anf -

(b) oesn -
(c) gle -

5. Fill in the blanks with word cards. 2 x2 =4

(a) This is egg. (a, an)
(b) You a doctor. (is, am, are)
6. Do as directed. 2x5=10

(a) Clap your hands
(b) Show me your nose
(¢) Jump

(d) come here

(e) cry
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